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Marketing Management - II (MB1C2): October 2008
	· Answer all 100 questions.

· Each question carries one mark.
	 

	1.
	Which of the following branding strategies involves managing a stable of brand names within a product category to suggest different functions/benefits or cater to different buying patterns of the customers?

(a)

Brand relaunch

(b)

Brand extension strategy 

(c)

Multibrand strategy 





(d)

Brand rejuvenation 

(e)

Brand proliferation.


	<Answer>

	2.
	The test-marketing stage

(a)

Is an extension of the screening stage

(b)

Should come immediately after business analysis

(c)

Ensures that the product will not fail

(d)

Is a product introduced in few selected cities

(e)

Prevents competitors from copying the product.


	<Answer>

	3.
	Which of the following consists of a unique sequence of lines that identifies a product with the help of an electronic scanner usually placed at the retail checkout counters?

(a)

Universal product code

(b)

Retail product code

(c)

Inventory status code

(d)

Product price code

(e)

Product line code.


	<Answer>

	4.
	A framework is generally used to analyze the effectiveness of the corporate code of ethics of an organization. The framework is segmented into four divisions depending on the competition and the industry in which the firm is operating. Which of the following statements is/are true regarding first segment of the corporate code of ethics?

I.
In this segment, industrial atmosphere does not support strong ethics.

II.
In this segment, the management should slowly direct the company’s efforts in building and maintain ethical standards.

III.
In this segment, most firms look towards profit maximization and do not concentrate much of their efforts in building a corporate code of ethics.

IV.
In this segment, the professional code of ethics must be adapted to cultural factors thereby helping the firm in developing a strong corporate code of ethics. 

(a)

Only (I) above

(b)

Both (I) and (II) above

(c)

(I), (II) and (III) above

(d)

(I), (II) and (IV) above

(e)

All (I), (II), (III) and (IV) above.


	<Answer>

	5.
	Based on what he has heard regarding the profitability of such items, Fred Goldstein is considering adding a fresh shellfish case in his grocery store. Fred knows very little about this product or the concerns of shoppers who buy shellfish. He is looking for help in display set-up and merchandising ideas. Which of the following would be the most appropriate thing for Fred to solve his problem?

(a)

He should contact general merchandise wholesalers

(b)

He should contact limited line wholesalers

(c)

He should contact specialty line wholesalers

(d)

He should contact rack jobbers

(e)

He should contact Limited-service merchant.


	<Answer>

	6.
	Which of the following methods of product testing is carried out on a long-term basis, where the customer uses the product extensively?

(a)

Gamma testing

(b)

Alpha testing

(c)

Lamda testing

(d)

Kappa testing

(e)

Beta testing.


	<Answer>

	7.
	Which of the following is/are the characteristics the channel members need to develop in response to the changes in the environment?

I.
Flexibility.

II.
Preparedness.

III. 
Attunement.

IV.
Competitiveness.

(a)

Only (I) above

(b)

Both (I) and (II) above

(c)

(I), (II) and (III) above

(d)

(I), (II) and (IV) above

(e)

All (I), (II), (III) and (IV) above.


	<Answer>

	8.
	New product development process consists of various stages. Which of the following statements is not true regarding these stages? 

(a)

Concept testing involves testing the functionality of the prototype through alpha testing, beta testing or gamma testing 

(b)

Test marketing is the process by which the product is given limited exposure to the market to assess its acceptability

(c)

In the idea screening stage, organizations should avoid ‘drop error’ and ‘go error’

(d)

Business analysis involves evaluation of the proposal’s business attractiveness

(e)

Idea generation is the act of searching for new ideas.


	<Answer>

	9.
	The traditional process of product production and distribution is divided into

I.
Manufacturing.

II.
Wholesaling.

III.
Retailing.

IV.
Consuming.

(a)

Only (I) above

(b)

Both (I) and (II) above

(c)

(I), (II) and (III) above

(d)

(I), (III) and (IV) above

(e)

All (I), (II), (III) and (IV) above.


	<Answer>

	10.
	Shark Cables cuts back advertising expenditures to minimum levels and reduces the number of channel members for its industrial cable product. These actions are indicative of a product in which of the following stages of its product life cycle?

(a)

Introduction

(b)

Growth

(c)

Maturity

(d)

Decline

(e)

Development.


	<Answer>

	11.
	Honda is popularly known for its automobiles and motor cycles. Later on, it started using the same name for its lawnmowers, marine engines and snow mobiles. This allows Honda to advertise that it can fit “six Hondas in a two-car garage”. The above form used by Honda is referred to as

(a)

Brand extension 

(b)

Brand proliferation 

(c)

Sub-branding 

(d)

Co-branding 

(e)

Multi-branding. 


	<Answer>

	12.
	The step or stage of the personal selling process in which the salesperson attempts to make a favorable impression, gather information about the customer's needs and objectives, and build rapport with the prospective customer is called 

(a)

Prospecting 




(b)

Preapproaching


(c)

Approaching 

(d)

Making the presentation

(e)

Overcoming objections. 


	<Answer>

	13.
	There are certain factors that companies need to consider before franchising their businesses. Which of the following are the factors that a company needs to consider before franchising?

I.
The company has to establish its brands in the market.

II.
The company should secure the confidence of the franchisee.

III.
The company should opt for a short term contract with the franchisee.

IV.
The company should always watch out for new entrants while choosing a franchisee.

(a)

Both (I) and (II) above

(b)

Both (I) and (III) above

(c)

(I), (II) and (III) above

(d)

(I), (III) and (IV) above

(e)

All (I), (II), (III) and (IV) above.


	<Answer>

	14.
	In which of the following methods of managing channel conflicts, an individual channel member influences the behavior of other channel member, where each channel member has to identify what he can give and what he needs to obtain from the other member?

(a)

Negotiation

(b)

Persuasive mechanism

(c)

Climate management

(d)

Cooperation and coordination

(e)

Legalistic strategies.


	<Answer>

	15.
	If a pint of Guinness costs less in Belfast than in Edinburgh then this would reflect which of the following pricing methods? 

(a)

Captive product pricing

(b)

Discriminatory pricing

(c)

Experience curve pricing

(d)

Transfer pricing

(e)

Zone pricing.


	<Answer>

	16.
	Jingle was established by a Filipino entrepreneur Joseph McKensey. He established Jingle by starting; two retail ice-cream parlor in the city of Manila. John’s vision was inspired by the global popularity of companies like McDonalds, Wendy’s and Burger King. When it was all set for McDonalds to enter the Filipino market, Jingle took many strategic steps, like offering exhaustive menu, closely related itself with the native culture in order to maintain its top position in the market. Jingle also went to backward integration, when there was an Asian crisis, to maintain its competitive position in the market. Jingle planned to expand its line of ice cream flavors. The managers wanted to study which ice cream flavors would appeal to customers by sending surveys to the customers. Jingle is presently in which of the following phases of new product development?

(a)

Jingle is presently in business analysis stage of new product development

(b)

Jingle is presently in product development stage of new product development

(c)

Jingle is presently in test marketing stage of new product development

(d)

Jingle is presently in screening stage of new product development

(e)

Jingle is presently in idea generation stage of new product development.


	<Answer>

	17.
	Which of the following is defined as a comprehensive, systematic, independent and periodic evaluation of a firm’s marketing activities, goals and strategies in order to identify the opportunities and problem areas and suggests suitable recommendations for improving the firm’s overall marketing performance? 

(a)

Marketing effectiveness review

(b)

Marketing excellence review

(c)

Marketing research 

(d)

Marketing audit

(e)

Marketing cost analysis.


	<Answer>

	18.
	Ambica Mathur is planning to open an upmarket dress boutique. She is evaluating ease of movement to and from sites, vehicular traffic, types of stores in the area and transportation networks. Which strategic retailing issue is she concerned with at this time?

(a)

Location
(b)

Product depth
(c)

Product mix
(d)

Retail positioning
(e)

Scrambled merchandising.

	<Answer>

	19.
	After designing the distribution channels, issues relating to the management of channels need to be addressed. Modifying channel arrangements becomes necessary when 

I.
The purchase patterns of consumers change.

II.
Rapid expansion of the market takes place. 

III.
A new competitor comes into the market. 

IV.
The channel technology is sufficient to carry on the business.

(a)

Only (I) above

(b)

Both (I) and (II) above

(c)

(I), (II) and (III) above

(d)

(II), (III) and (IV) above

(e)

All (I), (II), (III) and (IV) above.


	<Answer>

	20.
	Intermediaries are most closely associated with the concept of

(a)

Market targeting

(b)

Market segmentation

(c)

Channels of distribution

(d)

Marketing information systems

(e)

Promotion.


	<Answer>

	21.
	In service marketing, the most important link to the customer is 

(a)

Effective advertising

(b)

Good word-of-mouth communication

(c)

Well-trained contact employees

(d)

The tangible aspects of the service

(e)

Exceptional service quality.


	<Answer>

	22.
	Which of the following communication is usually carried out in the form of a news item in a mass media at no cost? 

(a)

Advertising

(b)

Publicity

(c)

Direct selling

(d)

Sales promotion

(e)

Personal selling.


	<Answer>

	23.
	Paying commission to a third party site when visitors buy the company’s products by logging on to the company’s site from a third party’s site is known as 

(a)

Affiliate marketing

(b)

Assertive marketing

(c)

Commission marketing

(d)

Conventional marketing

(e)

Indirect marketing.


	<Answer>

	24.
	Which of the following is/are true regarding canned sales approach of sales presentation?

I.
It is based on the principle that each customer has a different set of needs.

II.
It is extensively used in door-to-door selling and in telemarketing.

III.
It is based on stimulus-response process.

(a)

Only (II) above

(b)

Only (III) above

(c)

Both (I) and (II) above

(d)

Both (II) and (III) above

(e)

All (I), (II) and (III) above.


	<Answer>

	25.
	ITC has combined digital technology with the Indian concept of a gathering place, choupal. Many companies, including the likes of Nagarjuna Fertilizers, Monsanto, Eicher, BPCL, TVS Motor, Hero Cycles, LIC and ICICI Prudential sell their products through the e-Choupal network. ITC earns a commission of anything between 3 percent and 40 percent on these. Which of the following can be best deduced from the given example?

(a)

ITC is trying to avoid channel conflict

(b)

ITC is acting as a promoter for all the companies using e-Choupal services

(c)

ITC is acting as a direct sales associate for all the companies using e-Choupal services

(d)

ITC is acting as a marketing channel for all the companies using e-Choupal services

(e)

ITC is adopting a exclusive distribution strategy.


	<Answer>

	26.
	Which of the following is/are means to obtain long-term commitment from the customers and build lasting relationships with them?

I.
Sending a thank-you note to the customer for placing the order and for providing referrals.

II.
Providing articles or information on a customer’s competing business. 

III.
Sending reminders to the customer of his pending order or reorder.

IV.
Sending the customer, information about the launch of a new product, with a note on how it can benefit the customer or his business.
(a)

Only (I) above

(b)

Both (I) and (II) above

(c)

(I), (II) and (III) above

(d)

(I), (III) and (IV) above

(e)

All (I), (II), (III) and (IV) above.


	<Answer>

	27.
	In & Out stores of Bharat Petroleum offering many categories of products but with a limited variety would be an example of 

(a)

Wide and deep product assortment strategy

(b)

Wide and shallow product assortment strategy

(c)

Narrow and deep product assortment strategy

(d)

Narrow and shallow product assortment strategy

(e)

Long and deep product assortment strategy.


	<Answer>

	28.
	In the year 2004, Amul came out with a cartoon saying “Dismiss India” after the Miss India controversy in which the runner up crown of Laxmi Pandit was taken away. This type of advertisement is an example of which kind of emotion? 

(a)

Humor

(b)

Fear

(c)

Satire

(d)

Anger

(e)

Serenity.


	<Answer>

	29.
	Reverse channels are those that flow in the opposite direction of normal channels. There are a number of cases when a reverse channel flows are used. Which of the following is/are the case(s) of the reverse channels? 

I.
Reusing products or containers.

II.
Sale of consumer durables.

III.
Refurbishing products. 

IV.
Recycling products.

(a)

Only (I) above

(b)

Both (I) and (II) above

(c)

(I), (II) and (III) above

(d)

(I), (III) and (IV) above

(e)

All (I), (II), (III) and (IV) above.


	<Answer>

	30.
	Compared with other phases of the new product development process, the largest number of new-product ideas are rejected during which of the following phases? 

(a)

Idea generation

(b)

Concept testing

(c)

Business analysis

(d)

Screening

(e)

Test marketing.


	<Answer>

	31.
	If Nabisco established a pricing objective of selling one out of every three crackers consumed in the world, it would have established an objective based on 

(a)

Cash flow

(b)

Market share

(c)

Survival

(d)

Return on investment

(e)

Profit.


	<Answer>

	32.
	Kelloggs’ ‘corn flakes’ was a big success in the UK market. It was considered to be the best breakfast, as it was nutritious with no fat. After liberalization of the Indian economy in 1991, Kellogg’s, hoping for the similar success introduced its product in the Indian market. Kelloggs’ targeted the middle and upper middle class and was priced accordingly. Aggressive promotion was undertaken. Despite offering good quality products and being supported by the technical, managerial and financial resources of its parent company Kellogg’s products failed miserably in the Indian market. Which of the following best depicts the reason for the failure of Kelloggs’ in the Indian market? 

(a)

Kelloggs’ aggressive promotions created doubts about the quality of the products in consumers mind

(b)

Kelloggs’ was not accepted in India as it was a foreign product

(c)

Kelloggs’ entered the Indian market targeting a wrong segment

(d)

Kelloggs’ was not able to understand the food habits of the Indians

(e)

Kelloggs’ entered the market at a wrong time.


	<Answer>

	33.
	The owner of the ‘Beauty Spot’ beauty salon has difficulty in standardizing and controlling the quality of service delivered to the customers. This problem illustrates which one of the following unique features of services? 

(a)

Intangibility

(b)

Inseparability

(c)

Perishability

(d)

Heterogeneity

(e)

Homogeneity.


	<Answer>

	34.
	Companies develop the channel structure according to their own interests. However companies do not use certain exclusionary practices to stop competitors from using a particular channel. Which of the following statements is/are not true with regard to these practices? 

I.
Exclusive dealing agreement is an agreement between a manufacturer and a distributor that makes the distributor purchase other products produced by the manufacturer along with his main line of product.

II.
Franchising may be considered as an example of tying agreement wherein the franchiser gives the franchisee exclusive sale rights in a particular area.

III.
In dual distribution, a manufacturer distributes his products through more than one marketing channel. 

IV.
Tying agreements are legal as far as distributors are allowed to carry competing products. 

(a)

Only (I) above 

(b)

Both (I) and (II) above

(c)

(I), (II) and (III) above

(d)

(II), (III) and (IV)above

(e)

All (I), (II), (III) and (IV) above. 


	<Answer>

	35.
	Which of the following decisions is carried out by involving order processing, inventory management, materials handling, warehousing, and transportation? 

(a)

Strategic planning activities 

(b)

Marketing activities


(c)

Market logistic decisions

(d)

Channel management decisions 

(e)

Product development decisions.


	<Answer>

	36.
	Which of the following statements describes a key difference between advertising and publicity? 

(a)

Advertising is usually directly paid, and publicity is usually indirectly paid

(b)

Advertising is usually more effective when compared to publicity

(c)

Publicity is more expensive on a cost-per-contact basis than advertising

(d)

Advertising provides an immediate feedback loop, and publicity does not

(e)

Publicity always has a much greater reach than advertising.


	<Answer>

	37.
	Which of the following statements is/are true with regard fixed order interval system?
I.
In this system, the order period is fixed, but the order quantity varies with requirement.

II.
In this system, the quantity ordered each time depends on the current inventory level.

III.
This system is based on a periodic review of inventory levels.

IV.
This system requires lesser levels of safety stocks.

(a)

Only (I) above

(b)

Both (I) and (II) above

(c)

(I), (II) and (III) above

(d)

(I), (II) and (IV) above

(e)

All (I), (II), (III) and (IV) above.


	<Answer>

	38.
	Gallagher markets several brands of cigarettes, including Berkeley, Silk Cut and Bensen & Hedges is an example of which type of branding policy? 

(a)

Brand extension 

(b)

Brand licensing 

(c)

Family branding

(d)

Individual branding 

(e)

Co-branding.


	<Answer>

	39.
	Which of the following pricing methods do retailers use most often where the product is purchased for resale?

(a)

Markup pricing 



(b)

Price discrimination 

(c)

Price differentiation 

(d)

Return on investment 

(e)

Price skimming.


	<Answer>

	40.
	Which of the following is/are important factors to be considered in deciding the timing of an advertisement?

I.
Type of audience.

II.
Seasonal demand.

III.
Type of endorser.

IV.
Advertisement length.

(a)

Only (I) above

(b)

Both (I) and (II) above

(c)

(I), (II) and (III) above

(d)

(I), (II) and (IV) above

(e)

All (I), (II), (III) and (IV) above.


	<Answer>

	41.
	Which of the following marketing organizations are divided according to the specialization? 

(a)

Competition-based organizations 

(b)

Functional-based organizations 

(c)

Product-based organizations 

(d)

Market-centred organizations 

(e)

Matrix organizations.


	<Answer>

	42.
	Consumers' service expectations are influenced by advertising, word-of-mouth communication, and 

(a)

Recommendations from friends

(b)

Past experiences with the service

(c)

News stories about the service

(d)

The tangibles of the service

(e)

Credence qualities.


	<Answer>

	43.
	In Canada, Coca-Cola Beverages has rolled out new marketing, technologies, and packaging to outmaneuver private-label Canadian cola bottlers, which have captured considerable market share. Coke will bring in a new just-in-time distribution system based on unit trains and cross-docking sales centers. Which of the following statements describes benefit to coke from using just-in-time (JIT) system? 

(a)

The just-in-time system will allow Coke to operate with very low inventory levels
(b)

The use of just-in-time means Coke does not have reliable demand for its product
(c)

The just-in-time system will allow Coke to expand its product line without requiring additional investments
(d)

The just-in-time system will require Coke to purchase and/or lease more warehouse space
(e)

The just-in-time system will increase inventory carrying costs while reducing order processing cost.

	<Answer>

	44.
	In India, the competition policy was formulated to create and sustain an environment of active and healthier competition among firms. Which of the following is not true regarding the points envisaged by the commission? 

(a)

All trade practices should be open without any discrimination

(b)

Authorized agreements regarding territory sharing, unusual price reductions to gain undue advantage should be considered illegal

(c)

The businesses owned by the state governments and foreign companies operating in the country must be brought under the competition policy

(d)

The entry barriers created in an industry and the abuse of position by the dominant firms should be seriously dealt with

(e)

State governments should significantly reduce their share in state monopolies and subsequently privatize those business establishments in all the sectors except for those that are strategically important like defense related industries.


	<Answer>

	45.
	Kane Produce Ltd., takes possession of truckloads of tomatoes, arranges for storage and transports them on auctions. Here Kane Produce Ltd., is acting as a

(a)

Manufacturer's agent

(b)

Selling agent

(c)

Commission broker

(d)

Commission merchant

(e)

Selling broker.


	<Answer>

	46.
	"Mrs. White, you would agree that this is the most attractive car interior in this price range, wouldn't you?" Cliff Davis, salesperson at Ford Motors, was using which of the following, when he made this statement? 

(a)

A referral

(b)

An objective

(c)

A bandwagon approach

(d)

A follow-up

(e)

A trial close.


	<Answer>

	47.
	Which of the following types of product teams is described as having a product manager and two specialized product assistants, one who takes care of marketing research and the other, marketing communications?

(a)

Vertical product team 

(b)

Horizontal product team 

(c)

Triangular product team 

(d)

Standardized product team 

(e)

Divisional product team.


	<Answer>

	48.
	As Chris Jenifer prepares the script for a radio commercial for her boutique, she is engaging in which of the following stage of the communication process?  
(a)

Sourcing
(b)

Coding
(c)

Decoding
(d)

Transmission
(e)

Feedback.

	<Answer>

	49.
	An on-screen information source that can handle around 14 million requests per day is known as 

(a)

Touch-tone mobiles 

(b)

Mobile banking facility

(c)

Internet banking facility

(d)

Teleshopping 

(e)

Teletext.


	<Answer>

	50.
	By combining various service levels and different assortment breadths, various positioning strategies are available to retailers. Consider this: Tiffany is a world famous store selling top quality jewellery, crystal, watches and chains. Tiffany has stores all over the world. It is a store that features a narrow product assortment and high value-added. In this light, which of the following positioning strategies is most likely to be adopted by a retailer such as Tiffany?

(a)

Such stores pay close attention to store design, product quality, service and image; profit margin is high and if they have high volume they will be very profitable

(b)

Such stores keep their prices low by centralizing buying, merchandizing, advertising and distribution

(c)

Such stores keep prices low to have an image of being a place for good buys and they make up for the low margin through volumes

(d)

Such stores cultivate an exclusive image and tend to operate on high margin and low volume

(e)

Such stores sell high-markup, fast moving and branded goods at discounted prices.


	<Answer>

	51.
	Marketers sometimes face a situation wherein they may have to increase or decrease the prices of the products and services they offer. The effect of these price changes should be carefully studied in the light of

I.
Perception of sellers.

II.
Perception of buyers.

III.
Competitors’ reaction.

(a)

Only (I) above

(b)

Only (II) above

(c)

Both (I) and (II) above

(d)

Both (II) and (III) above

(e)

All (I), (II) and (III) above.


	<Answer>

	52.
	Gillete has developed a reliable, intangible sense of product superiority through the punchline “The best a man can get” by showing images of men at work and play. Which of the features of a brand is reflected in this example?

(a)

Positioning
(b)

Associative
(c)

Consistency
(d)

Personality
(e)

Awareness.

	<Answer>

	53.
	Any paid form of non-personnel presentation and promotion of ideas, goods and services by an identified sponsor is defined as

(a)

Advertising


(b)

Sales promotion

(c)

Publicity


(d)

Public relations

(e)

Personal selling.


	<Answer>

	54.
	Members of the marketing channel perform a number of key functions. Which of the following is/are the functions performed by the members of marketing channel? 

I.
Developing and disseminating persuasive communications to stimulate purchasing. 

II.
Assuming risks connected with carrying out channel work. 

III. 
Negotiating price and transfer of ownership.

(a)

Only (I) above

(b)

Only (II) above

(c)

Both (I) and (II) above

(d)

Both (II) and (III) above

(e)

All (I), (II) and (III) above.


	<Answer>

	55.
	Sellers that emphasize factors other than price, such as distinctive product features, quality of products, packaging, etc. to encourage brand preferences among customers are practicing 

(a)

Oligopolistic competition



(b)

Non-price competition 

(c)

Brand differentiation 

(d)

Image differentiation

(e)

Service differentiation.


	<Answer>

	56.
	Estimating the costs of selling different volumes through each proposed channel is part of which of the following decision areas used in evaluating the major channel alternatives?

(a)

Economic criteria
(b)

Social criteria
(c)

Control criteria
(d)

Adaptive criteria
(e)

Promotional criteria. 

	<Answer>

	57.
	Which of the following is the replenishment order quantity that minimizes the overall cost of inventory i.e. the sum of ordering and carrying cost?

(a)

Order lead time 



(b)

Economic order quantity (EOQ)

(c)

Reorder point 


(d)

Fixed order-interval approach 

(e)

Electronic inventory system.


	<Answer>

	58.
	In the personal selling process, which of the following is/are reasons for prospects raising objections?

I.
Prospect may not have enough time to talk to the salesperson.

II.
The product may not suit the needs of the prospect.

III.
The prospect might raise objections out of sheer habit.

IV.
The prospect might not have had a good experience with the salesperson during the presentation stage.

(a)

Only (II) above

(b)

Both (I) and (III) above

(c)

Both (III) and (IV) above

(d)

(I), (II) and (IV) above

(e)

All (I), (II), (III) and (IV) above.


	<Answer>

	59.
	Hyderabad, one of the fastest emerging cities in the global software industry, is marketing itself as a hub for software development, hardware engineering, biotechnology, apparel designing, BPO and so on. In this context, Hyderabad is using

(a)

Place marketing

(b)

Person marketing

(c)

Idea marketing

(d)

Industry marketing

(e)

Purpose marketing.


	<Answer>

	60.
	Which of the following is/are part of the ‘pre-approach’ stage of personal selling process?

I.
Developing a profile of the prospect.

II.
Identifying a potential prospect.

III.
Establishing the objectives of a sales call.

IV.
Deciding on approach.

(a)

Only (I) above

(b)

Both (I) and (II) above

(c)

(I), (II) and (III) above

(d)

(I), (III) and (IV) above

(e)

All (I), (II), (III) and (IV) above.


	<Answer>

	61.
	Homestore.com is an online real estate company that allows agents to advertise their home listings on Homestore sites for a fee. When it started, Internet expert’s thought it would fail because rather than cutout the middlemen and go straight to buyers, as so many early similar Web companies sought to do, Homestore included real estate agents. One of the factors for the success of the store is its 200 person sales force. The primary job responsibility of the sales force includes sales activities of pushing subscriptions to Homestore’s network of websites. Incentives as per targets achieved are fixed for the sales force. However the sales force also spends much time and effort in non-selling activities such as calling on real estate agents every day, educating agents about Internet basics like how to use e-mail and surf the Web as well. Homestore uses a salary plus commission compensation plan for its sales force because 

(a)

It wants to provide the highest level of motivation possible

(b)

It was not sure that its product would be marketable, but it wanted to keep its sales force long enough to test market the idea 

(c)

It expects its salespeople to engage in a number of non-selling activities but still wants to reward them for their sales

(d)

It wanted its salespeople to avoid non-selling activities whenever possible 

(e)

It did not want its salespeople to feel pressured to make sales.


	<Answer>

	62.
	Matt's girlfriend tells him that she wants jewellery for Christmas. Matt decides to go to a store that provides the best possible selection of jewellery. Which of the following stores would be the best choice for Matt to select and shop Jewellery for his girlfriend?

(a)

Department

(b)

Catalogue

(c)

Discount

(d)

Specialty
(e)

Convenience.


	<Answer>

	63.
	In which type of product-mix pricing strategy, management determines price steps for different combinations of features for related products? 

(a)

Captive product pricing

(b)

Two-part pricing

(c)

Product bundling pricing
 

(d)

Optional feature pricing

(e)

Product line pricing.


	<Answer>

	64.
	Which of the following statements is true regarding ‘selling agents’? 

(a)

They represent buyers and sellers on a temporary basis

(b)

They represent more than two sellers and provide a complete range of complimentary products and services to the customers

(c)

They market the few products of the manufacturers

(d)

They undertake all the wholesaling activities but do not possess the tide of the goods

(e)

They receive goods in large numbers from the manufacturers and negotiate sales in the markets.


	<Answer>

	65.
	There are several disadvantages to the product or brand management organization. Which of the following is/are the advantages of using a product or brand management organization? 

I.
Product and brand managers are relied on for their expertise. 

II. 
Product and specifically brand managers are not given enough authority to carry out their responsibilities. 

III.
Product and brand managers become experts in their product area but rarely achieve functional expertise. 

IV.
The product management system often turns out to be costly. 

(a)

Only (I) above

(b)

Both (I) and (II) above

(c)

(I), (II) and (III) above

(d)

(II), (III) and (IV) above

(e)

All (I), (II), (III) and (IV) above. 


	<Answer>

	66.
	All of the following are social responsibility issues related to the environment, or green marketing, except 

(a)

Water pollution

(b)

Air pollution

(c)

Conservation

(d)

Land pollution

(e)

Safety and health.


	<Answer>

	67.
	Evaluation is the process of assessing the performance of the sales personnel. Which of the following statements are true regarding evaluation of sales force?

I.
It helps in comparing the actual accomplishments of the sales person with the established sales objectives.

II.
It encourages the sales personnel to put in the required efforts to meet the firm’s objectives.

III.
It is difficult because the manager cannot apply the same standards to all the sales personnel.

IV.
It gives a true picture of the expected and achieved performance standards of an individual.

(a)

Both (I) and (II) above

(b)

(I), (II) and (IV) above

(c)

(I), (III) and (IV) above

(d)

(II), (III) and (IV) above

(e)

All (I), (II), (III) and (IV) above.


	<Answer>

	68.
	Odyssey Bookstore in Hyderabad offers limited categories of products such as stationery, books and greeting cards. But within these product categories, a wide variety of products are offered. Which of the following product assortment strategy is Odyssey using?

(a)

Wide and deep
(b)

Wide and shallow
(c)

Narrow and deep
(d)

Narrow and shallow
(e)

Long and deep.

	<Answer>

	69.
	A team at ‘Consolidated Diversified’ worked in international operations. Margaret helped set up networks of independent international middlemen to carry some CD products. Rahul contracted with foreign manufacturers to produce several CD products. Which of the following methods is adopted by Margaret to enter into foreign markets?

(a) 

Indirect exporting

(b)

Licensing

(c)

Contract manufacturing

(d)

Direct investment 

(e)

Joint venture.


	<Answer>

	70.
	Which of the following is not classified on the basis of the degree of involvement of customer?

(a)

People processing
(b)

Possession processing
(c)

Mental stimulus processing
(d)

Information processing
(e)

Professional services.

	<Answer>

	71.
	When a company like General Motors has disagreements with some of its dealers over business practices, it is a form of

(a)

Parallel conflict
(b)

Customer service conflict
(c)

Vertical conflict
(d)

Horizontal conflict
(e)

Multi-level conflict.

	<Answer>

	72.
	Many organizations conduct social audit to evaluate their business activities. Which of the following is/are the steps in a social audit?

I.
Identify positive and negative impacts of its marketing activities.

II.
Try to minimize the negative impact and maximize the positive impact of the business activities.

III.
Review whether the profits are increasing at a steady pace.

IV.
Evaluate the impacts and analyze implications for the management. 

(a)

Only (I) above

(b)

Both (I) and (II) above 

(c)

(I), (II) and (III) above

(d)

(I), (II) and (IV) above

(e)

All (I), (II), (III) and (IV) above.


	<Answer>

	73.
	When a company adjusts price levels so that it can increase sales volume to levels that match the organization's expenses, it is said to employ which of the following pricing objective?

(a)

Market share

(b)

Cash flow

(c)

Return on investment

(d)

Profit

(e)

Survival.


	<Answer>

	74.
	Advertisers primarily evaluate the effectiveness of an advertisement because firms spend crores of rupees on advertising. Marketers use intermediate method, where the target audiences are tested after they are exposed to the advertising and before they take any action. Which of the following is/are the various questions the marketers would address to the target audience?

I.
Whether the audiences have spread the message?

II.
Whether the audiences have clearly received the message?

III.
Whether the audiences have understood the message?

IV.
Whether the audiences have accepted the message?

(a)

Only (I) above

(b)

Both (I) and (II) above

(c)

(I), (II) and (III) above

(d)

(II), (III) and (IV) above

(e)

All (I), (II), (III) and (IV) above.


	<Answer>

	75.
	The SBH (State Bank of Hyderabad) goes with a punch line ‘You can always bank on us’, has come up with a plan to open some branches at Hyderabad. The top management tried to identify what image it wants to give to its customers. Later they assessed the difference between the desired image and actual image. And now they have come up with 1000th branch at Kukatpally, Hyderabad. It was advertised in the daily financial times news paper. They have proved that corporate communication can also be used to project a positive image of the bank in the mind of the customers. However any difference between the actual plan and the promised plan can be detrimental to the bank’s image. Hence it has achieved the desired image. Which of the following reasons best explains why the SBH was successful in opening the new branch?

(a)

SBH was better equipped to complete the project compared to other banks

(b)

SBH has a good reputation in the minds of customers; therefore, they were successful in opening the new branch

(c)

SBH followed image planning approach by taking at the broadest view of customer’s needs

(d)

SBH viewed that they were lacking in knowledge to guide the customers

(e)

SBH felt that it was easy to alter the customers’ perception.


	<Answer>

	76.
	Del Monte markets ketchup for household use to supermarkets through grocery wholesalers, and it markets ketchup for institutional use through industrial distributors and food brokers. Del Monte is using a/an

(a)

Bilateral distribution strategy

(b)

Dual distribution strategy

(c)

Vertical integration strategy

(d)

Unilateral distribution strategy

(e)

Franchising strategy.


	<Answer>

	77.
	Which of the following strategy is adopted by leading service providers to keep a strict watch on their own service quality and on the other, they closely monitor the quality standards and policies of their competitors?

(a)

Push strategy

(b)

Two-pronged strategy

(c)

Importance-performance analysis

(d)

SWOT analysis

(e)

Cycle analysis.


	<Answer>

	78.
	Which of the following denotes the purchases of the company’s customers, expressed as a percentage of total purchases from all the vendors of the same product? 

(a)

Customer loyalty


(b)

Overall market share

(c)

Customer penetration

(d)

Customer selectivity

(e)

Price selectivity.


	<Answer>

	79.
	Sales promotion does not play a vital role 

(a)

When sellers introduce new products or new brands

(b)

When an economy is going through a recessionary phase

(c)

When sellers aim at triggering the impulsive buying behavior of customers

(d)

In effective customer relationship management

(e)

When a company seeks to obtain greater cooperation from its retailers.


	<Answer>

	80.
	The channel member that markets all of a manufacturer's output, has complete authority over price, promotion, and distribution, but does not take title to the product is referred to as 

(a)

Limited-line wholesaler

(b)

Selling agent

(c)

Commission merchant

(d)

Manufacturers' agent

(e)

Broker.


	<Answer>

	81.
	Which of the following is/are true regarding ‘packaging’?

I.
It is the process of developing a design and a container for a product.

II. 
It adds value to the product in the form of easier handling and secured usage.

III.
It should help in maintaining the consistency of the product type. 

(a)

Only (II) above
(b)

Only (III) above
(c)

Both (I) and (II) above
(d)

Both (I) and (III) above
(e)

All (I), (II) and (III) above.

	<Answer>

	82.
	Sometimes resellers are offered a temporary price reduction for purchasing specified quantities of products. Such offers are used to provide them with an incentive to handle a new product, to achieve a temporary price reduction, or to stimulate the purchase of an item in quantities that are considered larger than those usually purchased. This type of sales promotion is known as

(a)

Push money

(b)

Buy-back allowance

(c)

Buying allowance

(d)

Money-off offer

(e)

Money refund.


	<Answer>

	83.
	In large firms, the role of marketing manager and public relations manager are totally different. Which of the following is/are the functions of a marketing manager?

I.
He monitors the trends and predicts the demand for the existing products.

II.
He makes use of all possible communication media to win and maintain the support of the public.

III.
He handles the new product development with the help of sales manager and the production manager.

IV.
He develops the pricing strategy with an aim to maximize the firm’s profits, while ensuring that the customers are satisfied.

(a)

Only (III) above

(b)

Both (I) and (II) above

(c)

Both (II) and (III) above

(d)

(I), (III) and (IV) above

(e)

All (I), (II), (III) and (IV) above.


	<Answer>

	84.
	Which of the following is a channel conflict managing strategy, where the problem is resolved using coercion, threat or punishment?

(a)

Climate management

(b)

Persuasive mechanism

(c)

Logrolling

(d)

Aggressive strategy

(e)

Negotiation.


	<Answer>

	85.
	Marketers’ regroup activities to alleviate discrepancies that arise due to failure in delivering goods that match customer expectations. With respect to these regrouping activities, when a fruit and vegetable wholesaler buys truckloads of strawberries from local farmers and then divides them into one kg and half-kg baskets to sell to grocery stores, is called as 

(a)

Allocation 

(b)

Assorting


(c)

Accumulation

(d)

Sorting

(e)

Storing.


	<Answer>

	86.
	A company might have to face unfavorable Public Relations (PR) due to various reasons. Which of the following is/are the way(s) through which effects of negative PR can be reduced? 

I.
Organizations should take proactive approach and chalk out plans to handle unfavorable PR.

II.
Organizations must establish policies, rules and regulations and implement them effectively to manage crisis and curb controversies.

III.
Organizations should continue with their routine works ignoring all the negative publicity created on them.

IV.
Seeking the media’s help can aid in reducing the impact of negative publicity to the organization.

(a)

Only (I) above

(b)

Both (I) and (II) above

(c)

(I), (II) and (III) above

(d)

(I), (II) and (IV) above

(e)

All (I), (II), (III) and (IV) above.


	<Answer>

	87.
	Klear Ltd. was into the business of manufacturing sunglasses. The company targeted only the middle aged people. The company soon got recognition in the market for its product. The success of the company was mainly attributed to its advertisements created by Joydeep who though never attended the college but was an intelligent person working with the company since many years. With the success of its product in the market, Klear decided to increase its market share by offering its brand of sunglasses to other segments as well. As a part, they first decided to target the college students. The top management again approached Joydeep who was by then nearing to his retirement age, to develop an advertisement campaign targeting college students. Joydeep took almost three months to develop an advertising campaign for the company. Klear spent huge amounts to launch the campaign. But the campaign generated poor response. Which of the following would be the most appropriate reason for the failure of the advertisement campaign developed by Joydeep?

(a)

Joydeep has taken too much time in developing the advertising campaign
(b)

The target selected was not a potential one and hence generated poor response 

(c)

Company spent more amounts for advertising, which created doubts in the minds of the customers

(d)

Klear was up to then targeted middle aged people, so the teenagers didn’t show interest on the product
(e)

Joydeep was not a right person to develop advertising campaign for the college students.


	<Answer>

	88.
	Tupperware, Amway, and Avon sell products outside the confines of retail facilities. This refers to as

(a)

Off-premise retailing


(b)

Portfolio retailing

(c)

Non-store retailing



(d)

Ownership based retailing

(e)

Direct retailing.


	<Answer>

	89.
	All of the following are essential elements of direct marketing, except 

(a)

Record of existing and potential customers

(b)

System for measuring response

(c)

Mass media advertising campaign 

(d)

System to follow up inquiries 

(e)

Feedback system.


	<Answer>

	90.
	When Sharp first introduced its line of reverse notation calculators, it set the price high; it has lowered the price as competitors have entered the market. The pricing strategy used by Sharp is called 

(a)

Differentiated pricing
(b)

Penetration pricing
(c)

Perceived value pricing
(d)

Value-pricing
(e)

Market skimming.

	<Answer>

	91.
	Which of the following is/are true regarding ‘product managers’?

I.
Product manager needs to command support from other functions.

II.
Success of product manager depends on the soundness of plans and his ability to coordinate activities of others over whom he does not have line authority.

III.
Product managers are responsible for reviewing and approving proposals for the new product development.

IV.
Product managers are made responsible for providing ideas for new product development.
(a)

Only (I) above

(b)

Both (I) and (II) above

(c)

(I), (II) and (III) above

(d)

(I), (II) and (IV) above

(e)

All (I), (II), (III) and (IV) above.


	<Answer>

	92.
	Highway Garden is a leader in the market of family restaurants located alongside of major highways. Its marketing mix includes a down-home atmosphere, a shop through which customers pass on the way to and from the restaurant, a menu of north and south Indian home cooking, and a friendly staff. Which aspect of the product component of the marketing mix will be particularly helpful to travelers looking for a place to eat lunch?

(a)

Highway Garden’s capacity management

(b)

Highway Garden’s efficient staff

(c)

Highway Garden’s brand name and identifying logo

(d)

Highway Garden’s competitively priced products

(e)

Highway Garden’s ambience.


	<Answer>

	93.
	The baseline of Raymonds, ‘The Complete Man’ communicates that the clothing makes a man complete and perfect. Which of the following brand feature is communicated here?

(a)

Attributes

(b)

Benefits

(c)

Values

(d)

Personality

(e)

User.


	<Answer>

	94.
	Retailer sponsored co-operative organizations are a type of vertical marketing system. Which of the following is/are not true regarding retailer-sponsored cooperative organizations?

I.
They are a type of contractual vertical marketing system in which retailers concentrate their buying power.

II.
These group of retailers buy together in bulk and are involved in collective merchandising.

III.
Retail members receive rebates at the end of the year on the basis of the purchases they have made throughout the year.

IV.
They are similar to traditional channels of distribution.

(a)

Only (II) above

(b)

Both (I) and (III) above

(c)

Both (II) and (IV) above

(d)

(I), (II) and (III) above

(e)

All (I), (II), (III) and (IV) above.


	<Answer>

	95.
	Which of the following concepts describe a lack of consistency in inputs and outputs during the service production process?

(a)

Perishability 


(b)

Variability

(c)

Reliability 

(d)

Tangibility 



(e)

Productivity.


	<Answer>

	96.
	Which of the following is referred as the average rate at which the raw materials are used in the production process of an organization?

(a)

Usage rate

(b)

Reorder point

(c)

Order lead-time

(d)

Economic order quantity

(e)

Just-in-time.


	<Answer>

	97.
	In an integrated marketing communications program, which of the following is not one of the ways in which a customer may have contact with the organization? 

(a)

Direct mail
(b)

Personal letters from competitors
(c)

Personal selling
(d)

Internet messages
(e)

Media advertising.

	<Answer>

	98.
	Strategic issues in retailing involves an overall set of plans that help the retailer to effectively conduct his business. Before venturing into the business the retailer should

(a)

Set objectives

(b)

Conduct a situational analysis

(c)

Identify target markets and consumers

(d)

Develop an overall strategy considering the controllable and uncontrollable variables

(e)

Develop specific activities on the basis of the day-to-day operations and also the business environment.


	<Answer>

	99.
	When people buy shares in Vancouver-based Ethical Funds, Inc, they know that their fund managers will not invest in corporations involved in production of military weapons, tobacco, nuclear power; and those with unfair employment practices, poor environmental records, or companies that support reactionary political regimes. A tough talking advertising campaign for Ethical Funds shows scenes of child labor and people dying from cancer, presumably caused by smoking. The ad asks, “Do you know where your money goes?” Which of the following is the best reason for Ethical Funds to adopt the above described approach to business?

(a)

These are mere tactics of projecting a goody image in the eyes of the public

(b)

The company wants to increase its sales of shares

(c)

Ethical Funds believes strongly in the cause of battle against cancer

(d)

The company is against companies that make military weapons, tobacco and nuclear power

(e)

Ethical Funds wants to build its business on a platform of social responsibility.


	<Answer>

	100.
	Sales promotions can be consumer sales promotions and trade sales promotion. Among the various trade sales promotion methods, a specified amount of money given by the manufacturer to the reseller for providing special promotional efforts, such as displays or advertising is referred to as

(a)

Merchandise allowance

(b)

Scan back allowance

(c)

Buy-back allowance 

(d)

Free merchandise

(e)

Buying allowance.


	<Answer>
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	Answer
	Reason
	 

	1.
	c
	Multi-branding strategy involves managing a stable of brand names within a product category to suggest different functions/benefits or cater to different buying patterns of the customers.
	< TOP >

	2.
	d
	The test-marketing stage is a sample launching of the entire marketing mix in few select cities.
	< TOP >

	3.
	a
	Labeling many products is done by attaching a universal product code (bar code) which consists of a unique sequence of lines that identifies a product with the help of an electronic scanner usually placed at the retail checkout counters. This lines also give the data regarding the price and the inventory status.
	< TOP >

	4.
	c
	All the options i.e., (I) In this segment, industrial atmosphere does not support strong ethics. (II)
 In this segment, the management should slowly direct the company’s efforts in building and maintain ethical standards. (III) In this segment, most firms look towards profit maximization and do not concentrate much of their efforts in building a corporate code of ethics are true regarding the first industrial segment except IV. In this segment, the professional code of ethics must be adapted to cultural factors thereby helping the firm in developing a strong corporate code of ethics, which falls under the second industrial segment. Hence option (c) is the answer.
	< TOP >

	5.
	c
	Fred should contact specialty line wholesalers because, specialty line wholesalers offers a very thin line of products and thus have full knowledge on the products. In this case, if Fred goes and consult a specialty line wholesalers, he can get the knowledge of every aspect regarding the shellfish.
	< TOP >

	6.
	a
	Gamma testing is carried out on a long-term basis, where the customer uses the product extensively.
	< TOP >

	7.
	c
	Channel members need to develop the following characteristics in response to the changes in the environment such as flexibility, preparedness and attunement.
	< TOP >

	8.
	a
	In concept testing stage of the new product development, the idea is submitted for an external evaluation to get a feedback from the market. Product testing involves testing the functionality of the prototype through alpha testing, beta testing or gamma testing.
	< TOP >

	9.
	e
	The traditional process of product production and distribution is divided into four types:

· Manufacturing

· Wholesaling

· Retailing and

· Consuming.

Hence option (e) is the answer.
	< TOP >

	10.
	d
	Shark Cables cuts back advertising expenditures to minimum levels and reduces the number of channel members for its industrial cable product. These actions are indicative of a product in decline stage of its product life cycle. Because during the decline stage, measures such as cost cutting and decreased budget allocation can be considered.
	< TOP >

	11.
	a
	A brand extension is where a company use its existing brand name to launch new products in other categories. Honda is using its existing brand name to its new products. Therefore option (a) is the correct answer. Where as option (b)Brand proliferation is the converse of brand extension. It is the introduction of products with new brand names in the same product category.
	< TOP >

	12.
	c
	Approach is the stage in the personal selling process in which the sales person makes an initial contact with the potential customer and tries to find out his needs. At this stage, creating a favorable impression on the buyer is more is important to the salesperson than pushing the product.
	< TOP >

	13.
	a
	There are certain factors that companies need to consider before franchising their businesses. Companies have to establish their brands in the market before venturing in to franchising. Franchisee should be chosen on the basis of their prior experience and local knowledge. A long term contract with the franchisee is likely to result in greater success.

Hence option (a) is the answer.
	< TOP >

	14.
	b
	In Persuasive mechanism, an individual channel member influences the behavior of other channel member, where each channel member has to identify what he can give and what he needs to obtain from the other member.
	< TOP >

	15.
	e
	If a pint of Guinness costs less in Belfast than in Edinburgh this would reflect zone pricing. In zone pricing, marketers divide the target market into different zones depending on population density, transportation infrastructure, shipping costs, etc. The prices in one zone remain constant.
	< TOP >

	16.
	e
	Companies seek new ideas to enhance the performance of their existing products and/or to innovate new products. The act of searching for new ideas is called idea generation. Some organizations encourage their employees to conduct research and come up with wacky ideas.

Hence, Jingle is presently in idea generation stage in the new product development.
	< TOP >

	17.
	d
	Marketing audit is defined as a comprehensive, systematic, independent and periodic evaluation of a firm’s marketing activities, goals and strategies in order to identify the opportunities and problem areas and suggest suitable recommendations for improving the firm’s overall marketing performance.
	< TOP >

	18.
	a
	Location of the store is of significant strategic importance for a retailer because it can provide him with a competitive advantage. A retailer can adapt himself to the changing market conditions by changing his product, price, promotion or distribution strategy but changing the location of store is very difficult and can impact the business in the long-term.
	< TOP >

	19.
	c
	Modifying channel arrangements becomes necessary when consumers purchase patterns change or when rapid expansion of the market takes place or when a new competitor comes into the market or when the existing channel technology is obsolete and is not sufficient to carry on the business.
	< TOP >

	20.
	c
	The terms channels of distribution and intermediaries are often used interchangeably.
	< TOP >

	21.
	C
	In service marketing, the most important link to the customer is well-trained contact employees.
	< TOP >

	22.
	b
	Publicity is communication in news story form about an organization, its products, or both, that is transmitted through a mass medium at no charge.
	< TOP >

	23.
	a
	Paying a commission to a third party site when visitors buy the company’s products by logging on to the company’s site from a third party’s site is known as affiliate marketing.
	< TOP >

	24.
	d
	In canned sales approach, the salesperson delivers a memorized sales talk. It is used when the product is not very technical and/or when the salesperson is inexperienced. Need satisfaction approach is based on the principle that each customer has a different set of needs.
	< TOP >

	25.
	d
	A channel is a passageway that allows the happening of certain processes. A channel facilitates the transfer of ownership and the physical exchange of products and services. The diverse and complex nature of a variety of marketing channels ranges from a simple channel linking producer directly to the customer, to a complex one where there are several layers of distributors linking the producer to the end customer.
	< TOP >

	26.
	e
	Marketers use various means to obtain long-term commitment from the customers and build lasting relationships with them. They are as follows:

(i)
Sending a thank-you note to the customer for placing the order and for providing referrals.

(ii)
Providing articles or information on a customer’s competing business. 

(iii)
Sending reminders to the customer of his pending order or reorder.

(iv)
Sending the customer, information about the launch of a new product, with a note on how it can benefit the customer or his business.

(v)
Sending the customer, information on an upcoming sale or special offer including coupons for customer discounts.
	< TOP >

	27.
	b
	In a wide and shallow product assortment strategy, a retailer provides many categories of products or services but with a limited number of varieties within each category.
	< TOP >

	28.
	c
	After the Miss India 2004 controversy in which the runner up crown given to Laxmi Pandit was taken away, Amul came out with a carton saying “Dismiss India”. This type of advertisement is an example of satire.
	< TOP >

	29.
	d
	Reverse channels are channels that are used for recycling and repair and that flow in the opposite direction of normal channels. Sales of consumer durables is in forward direction.
	< TOP >

	30.
	d
	Compared with other phases of the new product development process, the largest number of new-product ideas are rejected during screening phase.
	< TOP >

	31.
	b
	If Nabisco established a pricing objective of selling one out of every three crackers consumed in the world, it would have established an objective based on Market share. The objective of pricing the products and services of many organizations is to either increase or maintain the market share. Organizations usually focus on increasing their market share because they believe that such an increase results in higher profits.
	< TOP >

	32.
	d
	Kellogg’s failed in the Indian market as it has failed to make cornflakes a part of the daily breakfast. Cornflakes was totally a new product to the Indian culture. The typical Indians breakfast consists of idly, dosa, puri, chapathi etc, which is a very heavy diet. So they were not able to accept Kellogg’s in their breakfast as it was a light diet. And also though some purchased Cornflakes, they had it occasionally only as it costs much more than their routine breakfast. To change the eating habits is a very difficult and also a time taking process. Thus Kellogg’s failed to understand the food habits of Indians.
	< TOP >

	33.
	D
	The owner of the Beauty Spot beauty salon has difficulty in standardizing and controlling the quality of service the customers in her salon receive. This problem illustrates Heterogeneity.
	< TOP >

	34.
	b
	Tying agreement is an agreement between a manufacturer and a distributor that makes the distributor purchase other products produced by the manufacturer along with his main line of product. Franchising may be considered as an example of restricted sales territory agreement wherein the franchiser gives the franchisee exclusive sale rights in a particular area.
	< TOP >

	35.
	c
	Market logistics decisions involve order processing, inventory management, and the transportation process.
	< TOP >

	36.
	a
	Advertising is a paid form of non-personal communication about an organization, good, service, or idea by an identified sponsor. A non-personal, indirect presentation of an organization, service or product is termed publicity.
	< TOP >

	37.
	c
	The following statements are true regarding fixed order interval system:

I.
In this system the order period is fixed, but the order quantity varies with requirement.

II.
In this system the quantity ordered each time depends on the current inventory level.

III.
This system is based on a periodic review of inventory levels.

The statement (IV) i.e., this system requires lesser levels of safety stock is false since, it requires higher levels of stock to tide over any unexpected demand variations. Hence option (c) is the answer.
	< TOP >

	38.
	d
	Gallagher market several brands of cigarettes, including Berkeley, Silk Cut and Bensen & Hedges is an example of individual branding.
	< TOP >

	39.
	a
	In mark-up pricing, a marketer adds a mark-up on its cost of the product. Mark-up pricing is most common in retailing where the product is purchased for resale.
	< TOP >

	40.
	b
	In Advertising messages can be aired any time during the year depending upon the product or service. Normally the timing of the ad can be decide on the basis of seasons, months, weeks, days and even minutes and seconds. The type of audience also plays a significant role while deciding the timing to air an advertisement.
	< TOP >

	41.
	b
	An organization structure in which jobs are grouped according to similarity, such as advertising, marketing research and sales is called functional organization. A functional structure can be adopted by organizations that are small or medium-sized, but require a formal structure to coordinate their activities. Functional structure cannot be used by organizations that are too large and where coordination across functions is difficult to achieve.
	< TOP >

	42.
	b
	Consumers' service expectations are influenced by advertising, word-of-mouth communication, and past experiences with the service.
	< TOP >

	43.
	a
	The concept of just-in-time implies that raw materials are delivered in required quantities to the production plant as and when they are needed without any delay. Just-in-time process focuses on the reduction or elimination of inventory in the plant.
	< TOP >

	44.
	b
	The points envisaged by the commission are as follows:

· All trade practices should be open without any discrimination.

· Unauthorized agreements regarding territory sharing, unusual price reductions to gain undue advantage should be considered illegal

· The businesses owned by the state governments and foreign companies operating in the country must be brought under the competition policy

· The entry barriers created in an industry and the abuse of position by the dominant firms should be seriously dealt with

· State governments should significantly reduce their share in state monopolies and subsequently privatize those business establishments in all the sectors except for those that are strategically important like defense related industries.

· The businesses owned by the state governments and foreign companies operating in the country must be brought under the competition policy.

· The government should carefully examine the anti-competition practices in industries, especially those that arise with the implementation of World Trade Organization agreements.

Hence option (b) is the answer.
	< TOP >

	45.
	d
	Kane Produce Ltd., takes possession of truckloads of tomatoes, arranges for storage, and transports them to auctions to be sold. Here Kane Produce Ltd., is acting as a commission merchant. Commission merchants are those who receive goods in large numbers from the manufacturers and negotiate sales in the markets.
	< TOP >

	46.
	e
	“Mrs. Brown, you would agree that this is the most attractive car interior in this price range, wouldn't you?" Cliff Davis, salesperson at Ford Motors, was using a trial close, when he made this statement.
	< TOP >

	47.
	c
	The triangular product team consists of one product manager assisted by two product assistants. The job of each product assistant is to handle a specialized assignment pertaining to the product.
	< TOP >

	48.
	b
	The coding process involves selection of the right amount of information, the type of information and the organization of information that has to be sent or the receiver. (a) The sender of the message is the source if communication. The sourcing process starts when an individual, group of individuals or an organization wants to communicate some message to the target audience. (c) Decoding is the process in which the receiver analyzes or interprets the information that is forwarded by the sender. (d) The process of sending the message is referred to as transmission. (e) Feedback helps in the continuation of the communication process.
	< TOP >

	49.
	e
	An on-screen information source that can handle around 14 million requests per day is known as teletext.
	< TOP >

	50.
	d
	Stores that features a narrow product assortment and high value-added cultivate an exclusive image and tend to operate on high margin and low volume.

(a)
Stores that features a broad product assortment and high value-added pay close attention to store design, product quality, service and image; profit margin is high and if they have high volume they will be very profitable

(b)
Stores that features a narrow product assortment and low value-added keep their prices low by centralizing buying, merchandizing, advertising and distribution

(c)
Stores that features a broad product assortment and low value-added focus on keeping prices low to have an image of being a place for good buys and they make up for the low margin through volumes

(e)
Stores have sell high-markup, fast moving, branded goods at discount prices are discount stores. This option does not pertain to a positioning strategy rather indicates a type of a store.
	< TOP >

	51.
	d
	Marketers sometimes face a situation wherein they may have to increase or decrease the prices of the products and services they offer. The effect of these price changes should be carefully studied in the light of perception of buyers and competitors’ reaction.
	< TOP >

	52.
	b
	Most of the powerful brands associate themselves with intangible factors apart from tangible factors one seeks from a brand.
	< TOP >

	53.
	a
	Advertising is a paid form non-personal presentation of an idea / good / service by an identified sponsor. (b) Sales promotion is a tool used to induce product trial or immediate purchase. (c) Publicity is a non-paid form of communicating information about the company or the product as a news article in newspapers or television or radio. (d) Public relations is essentially a function which aims at developing or managing a company’s goodwill in the market. (e) Personal selling is a one-to-one or one-to-many or many-to-many direct interaction with the customer by sales persons.
	< TOP >

	54.
	e
	The flow of information from the channel to the customers is essential in order to create awareness among them about the availability of the products. The flow of information can help in obtaining customer orders, producer promotions, etc. Risks may flow from one channel member to another in the form of product perishability, fluctuating demand patterns, price fluctuations, risks generated by faulty products, etc. Negotiation is the process of reaching an agreement on the price and other conditions for facilitating easier transfer of ownership and possession of goods.
	< TOP >

	55.
	b
	Non-price competition ensues when marketers focus on factors other than the price, such as product features, quality of the product/service being provided, packaging, promotions and so on.
	< TOP > 

	56.
	a
	While evaluating channel alternatives, the first question a firm needs to answer is which channel member can produce more sales. Although the company’s sales force is better equipped and trained to sell the products of the company, there is a possibility that a specialized sales agency might sell more.
	< TOP >

	57.
	b
	Economic order quantity (EOQ) is the replenishment order quantity that minimizes the overall cost of inventory i.e. the sum of ordering and carrying.
	< TOP >

	58.
	e
	Some common reasons why the prospects raise objections are as follows:

(i)
Prospect may not have enough time to talk to the salesperson.

(ii)
The product may not suit the needs of the prospect.

(iii)
The prospect might raise objections out of sheer habit.

(iv)
The prospect might not have had a good experience with the salesperson during the presentation stage.

(v)
The prospect may raise objections to gain more information about the product.
	< TOP >

	59.
	c
	Hyderabad, one of the fastest emerging cities in the global software industry, is marketing itself as a hub for software development, hardware engineering, biotechnology, apparel designing, BPO and so on. Hyderabad is using here place marketing. 
	< TOP >

	60.
	d
	Identifying a potential lead or prospect is done during the prospecting and evaluating stage of personal selling process.
	< TOP >

	61.
	c
	The combination compensation plan pays a specified salary plus a commission on sales or profits generated. This method uses the best of the fixed salary method and the straight commission method and eliminates the disadvantages of both the methods to a great extent. It provides the security of a fixed salary and the drive to earn more through commission. Salary plus commission is highly flexible in nature because it provides an incentive to earn as much as the salesperson desires. It helps in motivating the sales personnel to improve their performance.
	< TOP >

	62.
	d
	Matt's best choice would be to shop at specialty store. Specialty stores offer a wide selection of specially chosen goods pertaining to a single product line. Thus these stores provide a narrow product line but a wide assortment of choice within this product line.
	< TOP >

	63.
	e
	When marketers offer more than one product item in a product line, they usually set prices for product lines instead of individual products. Marketers should consider the interrelationship between different items.
	< TOP >

	64.
	d
	Selling agents market the entire produce of the manufacturers. These agents undertake all the wholesaling activities but do not possess the tide of the goods.
	< TOP >

	65.
	a
	The product management organization has a product manager controlling all activities pertaining to a particular product. Some of the big organizations employ one manager for each product and s/he is responsible for all activities related to the product. A typical product manager has to perform various functions like planning, implementing and controlling the product strategies. The shortcoming of product or brand management is that, it is very costly to maintain a product manager. The most important benefit is that it makes feasible for the most important part of any business-the product-to be taken care of by a specialist.
	< TOP >

	66.
	e
	All of the following are social responsibility issues related to the environment, or green marketing, except Safety and health.
	< TOP >

	67.
	c
	· Evaluation is the process of assessing the performance of the sales personnel. The following statements are true regarding evaluation of sales force

· Evaluation helps in comparing the actual accomplishments of the sales person with the established sales objectives.

· Evaluating the sales force is difficult because the manager cannot apply the same standards to all the sales personnel.

· Evaluation gives a true picture of the expected and achieved performance standards of an individual.

Statement (II) i.e., is false because compensation encourages the sales personnel to put in the required efforts to meet the firm’s objectives. Hence option (c) is the answer.
	< TOP >

	68.
	c
	In a narrow and deep product assortment strategy, a retailer stocks fewer product or service categories but offers a wide range within that limited number of product categories.
	< TOP >

	69.
	a
	Indirect export is a process of exporting goods to foreign countries with the help of a domestic intermediary. Usually companies use the method of indirect export to test a new foreign market.
	< TOP >

	70.
	E
	services are categorized on the basis of the degree of involvement of the customer in the service delivery process:

· People Processing

· Possession Processing

· Mental Stimulus Processing

· Information Processing.
Hence option (e) is the answer.
	< TOP >

	71.
	C
	Vertical channel conflict arises when channel members operating at different levels compete for the same market share, as for instance, when a manufacturer and resellers compete with each other for a share of the business profits from the same segment of the market.
	< TOP >

	72.
	d
	There are three vital steps in a social audit:

1st Identify positive and negative impacts of its marketing activities.

2nd Try to minimize the negative impact and maximize the positive impact.

3rd Evaluate the impacts and analyze their implications for the management.

Hence option (d) is the answer.
	< TOP >

	73.
	e
	Survival can be the short-term objective of an organization’s pricing strategy to compete in the fiercely competitive environment. Organizations feel that a reduction in the price can be compensated with the increase in sales volume.
	< TOP >

	74.
	d
	In the intermediate method, the researchers question the respondents to analyze their receptiveness, their comprehension of the ad and their response towards the ad.

· Receptiveness:
Whether the audiences have clearly received the message.

· Comprehension: Whether the audiences have understood the message.

· Response:
Whether the audiences have accepted the message.

Hence option (d) is the answer.
	< TOP >

	75.
	c
	The theory that State Bank of Hyderabad has followed was ‘Image Planning and Control’. Initially the top management has tried to identify the image that it wants to create to its company. After identifying the desired image, it has assessed the difference between the desired image and the actual image. Hence it could create a positive image of the bank in the minds of their customers by opening 1000th branch in Kukatpally, Hyderabad.
	< TOP >

	76.
	b
	In dual distribution, a manufacturer distributes his products through more than one marketing channel.
	< TOP >

	77.
	b
	The heterogeneity of services and the absence of monitoring systems make it difficult for service providers to maintain a consistent level of service quality. Leading service providers, therefore, adopt a two-pronged strategy. While on one hand, they keep a strict watch on their own service quality and on the other, they closely monitor the quality standards and policies of their competitors.
	< TOP >

	78.
	a
	Customer loyalty denotes the purchase process of the company’s customers, calculated as a percentage of total purchases from all the vendors of the same product.
	< TOP >

	79.
	d
	Sales promotion is not a tool for effective customer relationship management. Hence, does not play a role in it.
	< TOP >

	80.
	b
	The channel member that markets all of a manufacturer's output, has complete authority over price, promotion, and distribution, but does not take title to the product is a selling agent.
	< TOP >

	81.
	e
	All the statements regarding packaging are true.
	< TOP >

	82.
	c
	Sometimes resellers are offered a temporary price reduction for purchasing specified quantities of a product. Such offers are used to provide them with an incentive to handle a new product, to achieve a temporary price reduction, or to stimulate the purchase of an item in quantities that are considered larger than those usually purchased. This is called buying allowance.
	< TOP >

	83.
	d
	The role of a marketing manager is to develop the firm’s detailed marketing strategy. The marketing manager determines the demand for the products offered by the firm and those offered by its competitors. He monitors the trends and predicts the demand for the existing products. He also handles new product development with the help of the sales manager and the production manager. Marketing manager develops the pricing strategy with an aim to maximize the firm’s profits, while ensuring that the customers are satisfied. Statement (II) is a function of Public relations manager.
	< TOP >

	84.
	d
	In aggressive strategy, the problem is resolved using coercion, threat or punishment.
	< TOP >

	85.
	a
	Allocation is the process by which larger quantities of homogeneous products are broken down into smaller quantities. Allocation is one of the ways to alleviate channel discrepancies.
	< TOP >

	86.
	d
	A company might have to face unfavorable Public Relations (PR) due to various reasons. Following ways through which effects of negative PR can be reduced are:

· Following safety measures, effective quality control measures, inspections etc.

· Organizations should take proactive approach and chalk out plans to handle unfavorable PR.

· Organizations must establish policies, rules and regulations and implement them effectively to manage crisis and curb controversies.

· Organizations should continue with their routine works ignoring all the negative publicity created on them.

· Seeking the media’s help can aid in reducing the impact of negative publicity to the organization.

· Organizations if continue with their routine works ignoring all the negative publicity created on them, it will not reduce any negative PR on the other hand negative publicity may increase further.
	< TOP >

	87.
	e
	Joydeep was not a right person to develop advertising campaign for the college students. As he has never attended the college he will not know the minds of the college students. Also, as he was reaching his retirement age, could not understand the changing tastes and preferences of the college going students. Thus though he developed the advertising campaign, it could not generate good response among the people.
	< TOP >

	88.
	c
	Non- store retailing involves selling products in ways other than via conventional retail stores. Non-store retailing can be in form of direct selling, direct marketing, and automatic vending.
	< TOP >

	89.
	c
	Mass media advertising is often used to support direct marketing, but is not an essential element of it. Think, for example, of Avon Cosmetics, which has traditionally placed very few advertisements in mass circulation titles.
	< TOP >

	90.
	e
	When Sharp first introduced its line of reverse notation calculators, it set the price quite high; it has lowered the price as competitors have entered the market. The pricing strategy used by Sharp is called market skimming.
In market skimming strategy, certain companies prefer to set high prices for their products and recover the costs incurred in developing
	< TOP >

	91.
	d
	Statement (III) is not true since product committees are responsible for reviewing and approving proposals for the new product development.
	< TOP >

	92.
	c
	Because services are intangible, and there are many competing places to eat at major stops along the highway, brand name or identifying logo of the service organization is particularly important in consumer decisions. 
	< TOP >

	93.
	c
	The baseline of Raymonds, ‘The Complete Man’ communicates a value proposition that the clothing makes a man complete and perfect.
	< TOP >

	94.
	c
	Statement (II) is not true because wholesaler-sponsored voluntary organizations buy together in bulk and are involved in collective merchandising. Statement (IV) is not true because administered vertical marketing systems are similar to traditional channels of distribution.
	< TOP >

	95.
	b
	The nature and quality of service offered varies from provider to provider, therefore the inconsistency in inputs and outputs. Variability in manufactured goods leads to wastage, whereas in services it is inherent.
	< TOP >

	96.
	a
	Usage rate is the average rate at which the raw materials are used in the production process of an organization.
	< TOP >

	97.
	e
	In an integrated marketing communications program, media advertising not one of the ways in which a customer may have contact with the organization. All other can be used to contact the company.
	< TOP >

	98.
	b
	Strategic issues in retailing involve an overall set of plans that help the retailer to effectively conduct his business. Before venturing into the business the retailer should conduct a situational analysis. 
	< TOP >

	99.
	e
	The best reason for Ethical Funds to take such an approach to business is that it wants to build its business on a platform of social responsibility.
	< TOP >

	100.
	a
	Merchandise allowance is a specified amount of money given by the manufacturer to the reseller for providing special promotional efforts. (b) A Scan back allowance is specifically aimed at retail outlets. Retailers are rewarded on the basis of the number of units moved through their scanners during a specific time. (c) Buy-back allowance is meant for each unit bought after an initial deal is over. (d) Free merchandise is given when additional products are offered at no charge. (e) Buying allowance is temporarily offered for purchasing specified quantities of a product.
	< TOP >
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